NO.1 &R B& 50mBMHERE

[1#H] [H#) [E28%]
1
2
SHATE B BF¥ #HESYE PS8 53.63
4 mE B BF #HEEYE Xk 1:00.31
5 &M Rk BF #HEEYE 1M 40.99 51.43
6 LA FiBE ¥ FHAEEYE XKFh 4913
.

[2#8] [FH#) [E28%]
1
2 IME &3 BF #HEEYE /M 40.99 57.22
3AHF KE BF #HEEYE 1M 40.99 52.46
4 FiE K ¥ ¥EEYE /M 42.29 58.21
5 8| &5 BF #HEEYE M 40.99 1:05.78
6 FR BEF0 ¥ ¥EEYE 1M 42.29 4741
7

[3#H] [H#) [E28%]
1
2
3 HE EE ¥ FHAEEYE 1M 42.29 4594
4 ZFEW EE BF¥ #HESEYE 112 36.19 38.47
5 =M &% BF¥ #HESYE 12 36.19 40.02
6 X ILEE TF ¥EEYE 12 36.89 4475
7

[4#H] [H#] [528%]
1
2
3 HE HH TF ¥EEYE 12 36.89 37.87
4 EF #Hib ¥ #EEYE Y 36.89 39.94
5 B0 ¥ ¥ FAEEYE 12 36.89 37.30
6 HE #b3k ¥ #ESYE /N2 36.89 43.10
7

[5#H] [H#) [E28%]
1
2
3K BX BF #HESEYE N3 34.49 44.27
4 FF E BF #HEEYE N3 34.49 37.29
5 BAR XK ¥ FAEEYE N3 34.69 41.44
6 k48 BRI ¥ FAEEYE 113 34.69 37.82

7




[6#H] [E#] [E28%]
1
2
3kl EE ¥ ¥EEYE /N3 34.69 38.47
4 RiR FI ¥ FAEEYE 113 34.69 41.41
5RB ¥ X¥ #HEGLE I3 34.69 36.61
6 g - BF #HEEYE Y 32.89 36.41
.

[7#8] [FE#] [E28%]
1
2
3 h EX BF #HEEYE Y 32.89 37.26
4 A0 BiMe BF¥ #HESYE Y 32.89 34.72
5 gk RE BF¥ #HEEYE Y 32.89 38.77
6 HEM HF ¥ ¥EEYE M 33.19 34.15
7

[8#H] [E#] [E28%]
1
2
3k RE ¥ FHAEEYE I 33.19 36.25
4 N BF¥ #HESEYE M5 30.89 35.18
5 MiHF T= ¥ #EEYE /5 31.49 32.16
6 ERAK HEE TF ¥EEYE 15 31.49 32.79
7

[9#8] [H#] [528%]
1
2
SEH NHE TF ¥EEYE 6 30.79 31.90
4 @A PR ¥ #EEYE /N6 30.79 36.22
5 kik FF ¥ FAEEYE 16 30.79 31.31
6 HE B ¥ #ESYE 1 29.99 33.59
7

NO.2 &F EB& 50miFikE

[1#8] [E#] [E28%]
1
2
3 FHE K ¥ #EEYE 1M 47.99 1:05.93
4 F8 BlK BF #HEEYE /M 47.99 4861
5 FH EI ¥ ¥EEYE Y 4259 51.70
6 &M AR BF #HEEYE /M 47.99 1:04.52
7




(2#8] (H#] [GEE&]
1

2
SME —iF B5F #HEEYE N3 38.99 40.46
4 ER BN B5F #HEEYE N3 38.99 43.19
5 B8 WE XF #HEEYE IN3 39.59 41.07
6 A F E BF #HEEYE N3 38.99 43.53
.

[3%8) (E#£]  [5EER)
1
2
3
4
5 #H FT= XF HEEYE IN5 34.89 37.82
6 EBE T XF HEEYE /N6 34.19 36.03
7

NO.3 &R B& 50m¥EikE

[1#8] [E#] [E28%]
1
2 EN #EE BF¥ #HESEYE 112 46.69 52.48
IWE R BF #HEEYE XKFh 1:19.98
4 BF KE BF¥ #HESEYE 1M 53.79 1:00.61
5 3 &5 BF¥ #HESYE /M 53.79 1:09.98
6 /ME E3 BF¥ #HEEYE 1M 53.79 1:15.20
7

[2#H] [H#] [528%]
1
2
3 FHH EM TF ¥EEYE 12 48.19 1:00.51
4820 %% BF¥ #HESYE Y 46.69 58.66
5% ER ¥ FAEEYE 12 48.19 49.46
6 B EE ¥ #ESYE 12 48.19 52.43
7

[3#H] [E#] [E28%]
1
2
3 EH BE BF #HESEYE N3 43.89 47.04
4-K BX BF #HEEYE N3 43.89 52.34
5 #HE [H= BF #HEEYE N4 41.29 47.16
6 F FEX BF #HEEYE /4 41.29 48.14
7




(4#8] (H#] [GEE&]
1

2

3 Ik BB BF #HEEYE N 41.29 53.47
4 FEM BT ¥ FAEEYE M 41.79 45.90
5ERK EE ¥ ¥EEYE 15 38.99 4463
6 5FH NHE ¥ FHAEEYE I\6 38.29 39.00
7

NO4 &R RE& 50m/\32754

[1#8] [FE#] [E28%]
1
2
3 WA Fig ¥ FAEEYE XKFh 55.22
4820 %% BF¥ #HESYE 12 39.69 52.43
5 =it =im BF #HEEYE N2 39.69 46.08
6
7

[2#H] [E#] [E28%]
1
2
IER ¥ ZF #FHEELE N3 37.29 43.97
4 BB RE ¥ ¥EEYE Y 35.49 39.67
5 20 Fi¥ ¥ #EEYE i\ 38.99 39.26
6 O LimE BF¥ #HEEYE M 35.29 39.99
7

[3#H] [H#] [528%]
1
2
3 Mg F BF ¥EE/E /N5 32.89 40.18
4 @A PR ¥ #EEYE /N6 32.69 4378
5 HE B ¥ FAEEYE ==} 37.14
6
7

NO5 &R BE 100mEAARL—

[1#8] [E#] [E28%]
1
2
AT 5 BF¥ #HESYE PS8 2:15.45
488 EE TF HEEYE 1M 1:45.39 1:49.22
5 FE BF0 ¥ ¥EEYE 1M 1:45.39 1:59.08
6
7




[2#H] [E#] [E28%]
1
2
3 F# AKX BF #HEEYE N 1:46.69 1:48.05
4
5 EH FiE ¥ ¥EEYE /N2 1:34.19 1:30.55
6 Hep 2k ¥ FHAEEYE N2 1:34.19 1:57.45
.

[3#H] [FE#] [E28%]
1
2
3O KE ¥ FAEEYE N2 1:34.19 1:37.87
4 BiE EE ¥ FAEEYE N2 1:34.19 1:42.50
5 % ER ¥ FHAEEYE N2 1:34.19 1:39.84
6 EF D ¥ ¥EEYE 12 1:34.19 1:46.32
7

[4%H] [E#] [E28%]
1
2
3R LK ¥ FHAEEYE 2 1:34.19 1:57.41
4 HlF HEH ¥ ¥EEYE 12 1:34.19 1:35.48
5 &Rk F1id ¥ #EEYE /N3 1:28.29 1:44.44
6
7

[5#H] [H#] [528%]
1
2
3l E=S TF ¥EEYE I3 1:28.29 1:38.99
4 kEE R ¥ FHAEEYE N3 1:28.29 1:37.94
5 BBAR XKt TF HEEYE M3 1:28.29 1:44.32
6 T WE ¥ #ESYE /N3 1:28.29 1:33.92
7

[6%H] [E#] [E28%]
1
2
3
4 WE —18 BF HEEYE N3 1:27.99 1:30.58
5 FE #A BF¥ #HESYE /3 1:27.99 1:40.10
6
7




NO.6 &R B& 200mEAARL—

(1#8] (E#] [EH]

2
3
4 EH BE B5F #HEEYE /N3 30089  3:12.40
5
6
7




